Paper: B. Arch and B. Planning
Set Name: |Item05
Exam Date: | 30 July 2022
Exam Shift: | 1
Langauge: |Odia
Topic: Mathematics — Part I-Section A
Iltem No: 1
Question
ID: 101201
Question
Type: MCQ
~ e 1
A6ARA (—2,2) UBAUNEA f 6 ¢ G YRR AR TR 6AUQR f=1)=f1)=0, f[EJ =1
Question: 3 3
qQ° g(— E) =g[5) =8(0)=0,8(1)=1| co6@ 6QF QIR (-2, 2) AYEQ, ANRQE
g () + 7 (0)g(x) +2f (¥)g'(x) =0 @ ARG 1@ (@) AH 26T :
A: 2
B: 4
C: 3
D: 5
Topic: Mathematics — Part I-Section A
Item No: 2
Qgestion 101202
ID:
Question
Type: McQ
6800 P2 f: R = R Q f(x)=alx|+|Bx—y|, 1808 6n¢igN, 6990 o, B, y 99K Q129 49
Question: o ﬁ
Qo6 | 6069, TR f(x) ¢ 2289 MY dig 62QgQl QQAIraa A°cl 6T AR :
A: 1
B: 4
C: 2
D: 3




Topic: Mathematics — Part I-Section A
Item No: 3
Question ID: 101203
Question Type: | MCQ
Question: QORYe 0Rgd Q8 TG 6RL0 YR JRes (C6IERIR) 26T ?
A: P=~q
B: p=(p)Vvq
c: PArq =(~p)Vva
D: (P A (~q) = ((~p) V9q)
Topic: Mathematics — Part I-Section A
Item No: 4
Question ID: | 101204
Question
Type: MCQ
Question: 6RQ (28@) S={(x, y): 2x—x2 < y2 < 2r,x < 2, x < y} Q 6F0TR 6T,
A: Z s E
4 4
B: E
3
C: Z - E
6 4
D: E
3
Topic: Mathematics — Part I-Section A
Item No: 5
Question
D- 101205
Question
Type: MCQ




99 QIQERIR (2NQA) 2=12y 9° 6ad L QIQl 28 688 69K0 6adl L, IR QIR
(6718Q)s 712l 62R 95 @A AIRIEANIG A’ G A ¥Q 016a FRe 24 6 Y9G Y@ 9! 2T 6dTRE B 9L

Question: _
@El dI2l IR Y AJ6q 29 @62 B ASB 9@ 496a1€1 A @E:l@, ZA 6R18 ANERIE | 92
2198 6Q90 /YT 26T :
A o3
B: 18
C: 27
D: 24
Topic: Mathematics — Part I-Section A
Item No: 6
Question 1 191206
Question
Type: MCQ
399a QR e ANRRE 2x—y=1 8 x—2y=—1 9Q° 190 QR6aL (6999Q) (2, 2) 6069
Question:
NP QTR 26T :
A: E
2
B: E
2
C: 3
D: Z
2
Topic: Mathematics — Part I-Section A
Item No: 7
Question ID: | 101207
Question
Type: McQ
- = : 2 2
Question: 636 (28) A—{(x,y) 1x+2y <42 (x—-2)" +(y—2) ,x,y?_"O] Q 68QTR 26T :




A: 20 _w_zm—l[g)
B: &_,ﬂ._zm—l[g}
C: 2 —w+2sin—1[§)
D: _.2_8 S — Sm_l (é}
5 5
Topic: Mathematics — Part I-Section A
Item No: 8
Question 101208
Questi
T;Jpees: 1on MCQ
2 -
696163 @9 P(x, y), x >—1 0161, 9| y=f(x) I AFE IR 69T AR 2 :+ 33x LA
Question: *
Q@ f£(0) = % log.3 — 10 6069 f(4) QAR :

A 9log.3 + 10

65
B. 9log.3 + 20

65
c. 9log. 3

65

D: 9log.3 — 10

65
Topic: Mathematics — Part I-Section A

Iltem No:

9




Question
D: 101209
Question
Type: MCQ
-3 = S —_ —_ S CL -
1600Q driea a, b NQ° ¢ Q@ JAOR QUEQ YQEO QI WdIF | A6RAQ u WIFCR
- = - - - - -
a, b 99° ¢ QAIFAINEQ QAEQ U°AGLR dAREA 4, —59Q° 3 | @ QAW
Question:
— — — — — — — — s e -
—a+ b+ 2 a—b—c 9@ —a - b+ c AR GG6Q @dIF u Q ¥ YR
a, B, ¥ 94, 666Q a+2B+2y Q gAY 26G :
A: 31
B: 35
C: 37
D: 61
Topic: Mathematics — Part I-Section A
Item No: 10
Question ID: 101210
Question
Type: MCQ
AQ ¥ 4P :
Wl 15-25125-35|35-4545-55|55-65|650-75|75-85
Question: aTatofTata 2 4 7 a 8 4 2
~ 201 2
Il () == 26g, 6062 12IQ g9ad (quadled) dale :
A L)
19
8 Sl
29
¢ L)
16




3519

D: BRI
16
Topic: Mathematics — Part I-Section A
Item No: 11
Question
D: 101211
Question
Type: MCQ
5 f:{1,2,3 4,5 - {1, 2 3,4,5, 6} 2050q 2RFAe @60 Q2IAIQU I@-9Q TR, Q2|
uestion:
f)+£(2)=f(3) q 98 @6Q, SN AANS! 26T :
A: i
12
B: i
10
C: l
6
D: l
5
Topic: Mathematics — Part I-Section A
Item No: 12
Question
ID: 101212
Question
Type: MCQ
uestion: eeea 4, A, A,, .., A, 102 ¥9e° 12, B, B,, ..., B, 110 Q@G Q7Ieq 966 (6841) | 9@ A =B
A0 1<r — s < 100, 66069 n @ QAQ WY A6l 26C :
A 20
B: 25
C: 50
D: 75




Topic:

Mathematics — Part |I-Section A

Item No: 13

Question

D- 101213

Question

Type: MCQ
e Q2o

Question: | (1+x+x2+.. +x)+ (1 +x)A+x+22+... +x¥)+ (T +x+2x) (1 +x+22+..+2Y)+ .. +
(I+x+22+ . +28)(1+0)+ (1 +x+22+...+2%) 6a <92 999 qiIewq A8 AL :

A: 21675

B: 22525

C: 22100

D: 21660

Topic: Mathematics — Part I-Section A

Item No: 14

Question ID: 101214

Question Type: | MCQ

Question: (2023)2021 @ 12 QIQl QU9 (QRFY) Q6 QUGEHT 26T :
A:

B:

C:

D: 11

Topic: Mathematics — Part I-Section A

Item No: 15

Question

D: 101215

Question

Type: MCQ

Question: 1000 OIg, dif G QAR II9R Qﬁiﬂ"%ﬂl, Qe 7 @al 13 QIR IRURY, QAR A°EI 26T :
A: 218

B: 208




C: 228
D: 192
Topic: Mathematics — Part I-Section A
Item No: 16
Question
D: 101216
Question
Type: McQ
Questi 76992 A 8 B 9@ nxn Q6 Q129 AR 6006@ A=AT 4@° B=—BT 1 9@ C=A5B2- B2A5
uestion:
qe° D=A4B3-B3A4, 6069 :
A: C Qe8d @ D Q6184 AQél 29S|
B: Qe C 99° D 49124 A 293 |
C: Qe C 99° D 21991ed AIQd1 263 |
D: C 29984 AQd1 8 D Qagd A9 2ea |
Topic: Mathematics — Part I-Section A
Item No: 17
Question
D: 101217
Question
Type: MCQ
AN QAP AW z 6AANER 9B A& z = i(Re(z) + 22) @ U8 Q6B, 6AAINFQ Q1YL 6 QIFHR
Question:
2°Egeea ANE AAIR :
A: 0
B: 1
C: -1
D: 2 Jg
2
Topic: Mathematics — Part I-Section A
Iltem No: 18




Question

D 101218
Question
Type: MCQ
(1R @61@ ABC @ ZA 6R16l, £ZB 614, £ZC 6R14a d961a QL Jeiaes a, b, ¢ | QG
Question: inA infA — B 1 + cos(A — B) cosC a’
sinh _ sinA D) coem ~ —% QgaY AL :
sinC sin(B — C) 1+ cos(A—-C)cosB  2b
A: l
4
B: l
2
C: 1
D: 2
Topic: Mathematics — Part I-Section A
Item No: 19
Question
D 101219
Question
Type: MCQ
6RIGN G9R QIPR 9Ig AIRRa AeRagde T2 Y ~3 _2*2 ¥x-2 _y-3 _z+2
-3 -2 4 -1 -2 3
Question: x _y-1_2z- 3 o )
Lo T 12 99 9% 2@ GYEQ ARea (26216241 (a, b, ¢) 24, 606 a—2b+2¢
i
el .
A: 0
B: 11
C: 13
D: 15
Topic: Mathematics — Part I-Section A
Item No: 20




Question

D- 101220
Question
Type: MCQ
Q) 96Q 1169aa OB=0S=AB=AR=3 9@ 3g® OAB @ 690T% 1 24, 6062 (OP)? AR
Ry 26S :
Question:
A:
B: e 04
2
c. 3+ 77
2
o, 12 — 77
2
Topic: Mathematics — Part I-Section B
Iltem No: 21
Question
D- 101221
Question .
Type: Numeric Answer
Question: lim (2" - 1)2 tan®x a o
x_’o(sin_lx) log, (1 + xé) Q MY 99171 8 QQUAIR | 66969 o e R Q 4] ¢lmd QeI
Topic: Mathematics — Part I-Section B
Iltem No: 22
Qgestion 101222
ID:
Question

Type:

Numeric Answer




- A A A - A A A 2y o — —
AN a=2i—j+k‘<‘l@°b=i+j—k|g@€lﬂ€9@61 c M@ @dlls diwl a 8@ b 42

Question: ~ -2 S Py G -
A (MR AR QU6 ARER) | UF |;_-| =66 99° ¢ - (a + b)=12, €06Q ‘b . C —4‘ Q
gy Qe |
Topic: Mathematics — Part I-Section B
Item No: 23
Qgestion 101223
ID:
Question .
Type: Numeric Answer
aeeeq P, 9e° P, , P(-1,1,1) @Q@ daewe —2x+y+z+1=0 9Q° x—y—z+2=0 QK6
Question: | Galger goda Ay | A& @ P, 6 P,  6dI6 @q2Ql 604G 6864 « 24, 6662 9a2 Q FJaY AR
_____ |
Topic: Mathematics — Part I-Section B
Item No: 24
Qgestion 101224
ID:
Question ,
Type: Numeric Answer
~ ~ T
da Q9 A(a, 2) 99 B(2, 3) @ 6dit @Rl 6QGISE (e Ot — 6&I€l YR @60, 6L6Q ‘a’ Q
Question: 4
Qéld_@ dael e delle |
Topic: Mathematics — Part I-Section B
Item No: 25
Qgestion 101225
ID:
Question .
Type: Numeric Answer
5 5 5 « (x + )
16RaQ Q@9 (x, i) 0l6Q, @Q (2,4) F& 6o@ d% Q2 9@ QR AR 64|, (21961)
(x+ Dy - 1)
Question:

2y —yx— 4

U6 | 94 QPR AARRET (x + 1) (x + 2y - B)=a’ e(ixn ) , 6669 a+p+v m AR




Topic:

Mathematics — Part I-Section B

Item No: 26
Qlfestion 101226
ID:
Ques.tion Numeric Answer
Type:
t o2 5 -rr
A6eea f(t)= [e* |(1+2¢%)sinx +1cosx|dx, , 6968 f|Z|+f(m) @ @y Qe
Question: —t
Topic: Mathematics — Part |-Section B
Item No: 27
Question
D 101227
Ques.tion Numeric Answer
Type:
1,1,2,3,7,8 2& 95q e0iQ @8 6-ga Qda gy Qayl g9 999 AR [AR casidnl | 98
Question:
378121 64@ Q°HIfew 654810 K of ae g9, 6069 K Qale |
Topic: Mathematics — Part |-Section B
Item No: 28
Question
D- 101228
Ques.tion Numeric Answer
Type:
Question: 2SN A=[axj] @ 3 X3 @6 Q19e dIQd 9 Ad](A)=[AIj] | 9@ a1j+a2j+a3j =1, j=1,2,3
NQ° Ay =2, Ay =4 NQ° det(A)=10 , 6662 A, Qi@ |
Topic: Mathematics — Part I-Section B
Item No: 29
Ql{estion 101229
ID:
Ques.tion Numeric Answer
Type:
AMRRE 4x2—8(K—1)x+3K2+10-9K=0 @ 2G@A6a 6915 gBIae r e, 6069 Q19
Question:

QG K @ 69¢ AIe 26e |




Topic:

Mathematics — Part I-Section B

Iltem No: 30
Question
D: 101230
1Q_ue§tion Numeric Answer
ype:
Question: | 6Q€' {x, y} § 6Q6 {x, y} § QLA RN (FAFER) AR AIPFQ QG AR
Topic: Aptitude Test — Part Il
Iltem No: 31
Question ID: 101231

Question Type: | MCQ

Question: FEARAR A0 INQ G AR Y] c1l QI |
A ANQ 62,71

a0 30

C: aalagata]

D: o g

Topic: Aptitude Test — Part Il

Item No: 32

Question ID: 101232

Question Type: | MCQ

629 9F QB QG 2A1Q.” AIA 6aN ?

(A) 1919
_ (B) 1920
Question:
(C) 1918
(D) 1921
A0R ARG a7 IREQ QIS :
A: eQQw (A)
B: (A) 4Q° (B) 6@Q@
C: e@Q@ (B)




D: (B) 9@° (C) 6999

Topic: Aptitude Test — Part Il

Item No: 33

Question

D: 101233

Question

Type: MCQ

Question, | ARYSIR e 28 JAIRIR A 98 AINR AFER RIdY AP OIF TER @Al AMG 62198, 6AR RIHY
| cRede QIee FAG eaIgel ?

A: 6AIGIQAQIR AFER BIR

B: R AHIG

C: dIag @l /| AIPRIE

D: FAEQIT

Topic: Aptitude Test — Part Il

Item No: 34

Question ID: 101234

Question Type: | MCQ

Question: ‘ARer Foeq’ deqEq IUQEe |

A: ARG

B: megl

C: ALl

D: AT

Topic: Aptitude Test — Part Il

Item No: 35

Question ID: 101235

Question Type: | MCQ

Question: QOIRE fRIQ @9 AOR Q] ?

A: cacel gales




B: QOIS 69169

C: oIRa eIdel

D: Se1e saIsiag
Topic: Aptitude Test — Part Il
Item No: 36

Question ID: 101236

Question Type: | MCQ

Question: ‘2’ 69Q AURYEA Y AR ARE IR ?
A: QDD

B: W Jeusl

C: @lollmY s

D: lielia]

Topic: Aptitude Test — Part Il

Item No: 37

Question ID: 101237

Question Type: | MCQ

Question: "‘NRCP 6@ |

A: 60dAIR ARQ @R qIa.

B: 664915 GEQ AR YR

C: 60 elm QR 28 @E@ACWLR. I
D: SN Qe 28 QERACWLR. IR
Topic: Aptitude Test — Part Il

Item No: 38

Question ID: 101238

Question Type: | MCQ

Question:

QERIFAIR 2IPCCAPRN I8

A2 K69 |




A PR /AAANTR aQlda MeTIQ

B: Jor QIRe 98 GRIAA IR

c: Eo 9e° QREER LR QLI

D: Q19 QUAS JQIda MeTIQ Q2 AINHER FAlS 696RIERAID |
Topic: Aptitude Test — Part Il

Item No: 39

Question ID: 101239

Question Type: | MCQ

Question: AR AR 6208Q ARG QRIAN |
A: @Q

B: 692a (eadal)

c: AR e

D: ZIERARQ JOTRR

Topic: Aptitude Test — Part Il

Item No: 40

Question ID: 101240

Question Type: | MCQ

Question: 29I 6QR6TE QU QA AAIQE eLIEml ?

A 2RI
B: QLIQQ AT
c: ARIFILIR

D: QR

Topic: Aptitude Test — Part Il
Iltem No: 41

Question ID: 101241

Question Type: | MCQ




Question: Qe dIRd (J9Q) LR 6aa FAER AL :

A: eala)

B: S3((o)

C: @@

D: cedean

Topic: Aptitude Test — Part Il

Iltem No: 42

Question

D: 101242

Question

Type: MCQ

question: | ©° deq %30 Foaa A8 AR R FIGIER IR GRIRR 1: 100 6INER, 6AUNER @ FAUGIR |
| 6069 6090 RUER 629 ANRA 29 AR, ALY IS AR ?

A: 6 meter X 3 meter

B: 60 cmm % 30 cm

C: 6 cmX3 cm

D: G o) e B ¢

Topic: Aptitude Test — Part Il

Iltem No: 43

Question ID: 101243

Question Type: | MCQ

2lINGES! QILIQ g@ld @e ?

Ovecton ) — i 100% (QL1a) i
EW o7 W7
Qe 2INI6R 39 2INSee|

A QY 98 IR QYR 6QIAT [ e |




B: 89 21208 ud (a9da)
C: QreRq AT AT (2Eel I8 Q)
D: gegal ud gee/ aQide
Topic: Aptitude Test — Part Il
Item No: 44
Questi
ID‘feS 'on 1101244
Questi
T;Ipees: on MCQ
QlRel I @ clawl IT 989 a1 :
QIR - I QIR - I1
(A) 9RL ARFY () AAVIE MU ARR AIG KIT A IR, QIR ARG
6gIReg |
Question: | (B) @Id@ QUQRQ ) <Y, 690 @2 I9° 690Q rIAF: 6xd QI amg
@<
(C) Ge aeaq () QTR 6QA0EFeq @did
(D) 69Q ANRY (IV) 69g6nd° gIa AT SRR FU AT TR AR
Qrea @8 FREYEeq YYD Q806 9df !
A (A) - IV), (B) - (1), (C) - (IN), (D) - (ITI)
B: (A) - (), (B) - (@), (O) - (IV), (D) - (L)
c: (A) - (1), (B) - (D), (C) - (IV), (D) - (I)
D: (A) - @), (B) - 0), () - (), (D) - (IV)
Topic: Aptitude Test — Part Il
Item No: 45
Question ID: | 101245
Question MCQ

Type:




Question:

6 Q@6 @& FAURS |

QRI: edle 9UR fQd 6R9PQ AT ALRIA AIGAUITR RAR FFR |
@@ I: 92 edledy 20 QEa T 9e° FeId IARR A6alIT A6 |
@ OR MY 699, AERIA JYFY ARR A9 FAART AR |

A: Qe 9@ 199° @@ II 0] |
B: QR @3 199° @@ II g |
c: @3 10 @g @@ I19a |

D: @3 1gn @g @3 11 0x |
Topic: Aptitude Test — Part Il

Iltem No: 46

Question ID: 101246

Question Type:

MCQ

Question:

6P0 29w QUER “AIR ARCEY” 1 7' 9% 9RE ARG 2

A 209 QLR
B: 6FIES SlITrG

C: Rel TR

D: 2196 644

Topic: Aptitude Test — Part Il

Item No: 47

Question ID: 101247

?;pe;tion MCQ

Question: P62 629G IRCIRER ARG AAFE ABFIGD JRAQ A2 VYD Q6L ?
A Qala 60lIR, 661BIR (RIBA)

B: doee diee

c: 219l ¢l 261




D: META 2IgI@
Topic: Aptitude Test — Part Il
Item No: 48

Question ID: 101248

Question Type: | MCQ

Sg6a A3° g9l e QUG |

Question:

A: 83

B: 48

C: 55

D: 84

Topic: Aptitude Test — Part Il
Item No: 49

Question ID: | 101249

Question MCQ

Type:




QIR 1 @ el 11 9@e ARl :
QI I

Question:
(1) QLR 9F, 6alf A9IS FINUR QI
(IV) LIC Q&F, a4 Gl 9k ealael Qo

P68 FREgeaq q@ AROG 998 @ :

A (A) - (1), (B) - (1), (C) - (IV), (D) - ()

B: (A) - (IV), (B) - (IT), (©) - (1), (D) - (IL)

c: (A) - (II0), (B) - (I), (©) - (1D, (D) - (IV)

D: (A) - (1), (B) - (II), (C) - (I), (D) - (IV)

Topic: Aptitude Test — Part Il

Item No: 50

Question ID: | 101250

Question Type: | MCQ

) @ 649, A8R 6aRel JaIsal QI

() QeeAdq IF°, 6, ads adIgx QI




Question: 679 9199 “ge aw, 690 999 @ VP! ?
A: 6oRG QN
B: 2adell Q€
C: M @Im
D: d.6@ QI
Topic: Aptitude Test — Part Il
Iltem No: 51
Question
D: 101251
Question
Type: MCQ
QAR 995 1@ IR 6gRq AR | 699 @R 985, 9g 99a B4 Aea Aid Qea Te!
68R, 39 @9 |
Question:
<—
A:
B:




~

al
-

a

Topic: Aptitude Test — Part Il

Item No: 52

Question ID: 101252

Question Type: | MCQ

Question: Q6@ QUUIRAR 2P TS AR ?

=
=




D:
Topic: Aptitude Test — Part Il
Item No: 53
Qgestion 101253
ID:
Question
Type: MCQ
I \\
I ~
|
| ~
: - )= =
Question: !
I
I
I
99 0IRRQ 6 @@6@ Q2R IQ Yt SNl | @@l@l@l@ 2l U@ 66lm @6l QUG | 6NN
63lIRl G6R, 69Le A0 PINGIF 689 ?
R
® .- ' v @
SN
r’ " . : ® \\
’ | %
A o mmmimm e 3
LS &
by #
N @ e,
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B: e e B A
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Ne e,
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b1
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C: P e e B e A
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Topic: Aptitude Test — Part Il
Item No: 54
Question ID: | 101254
Question Type: | MCQ

Question:

59 920 3 D Q¥ @dIe? | QIR 3R JI0R A 6R60 629 ?




A: 11

B: 10

C: 9

D: 13

Topic: Aptitude Test — Part Il
Item No: 55

Question ID: 101255

Question Type:

MCQ

g9996a 6a60I8 AEAIC Qe A6 9L ?

Question:

A: 16

B: 12

C: 06

D: 08

Topic: Aptitude Test — Part Il
ltem No: 56

Question ID: | 101256

$;pe§t'°” MCQ

Question: ‘PLEASE’ 6@l 6Ql@ QI@G@ ‘573183" eadllclem, ‘'LAPSE” @ cRSIde |
A: 71853

B: 81573

C: 71583

D: 715831




Topic: Aptitude Test — Part Il
Item No: 57
Question ID: | 101257
Question
Type: MCQ
696 QAR 590 g4¢9e Jeea dteq Agd @G ¢
Question: I:’ é <> O % ? ?
S o ® ] 2 | ?
1%
B:
C:
O
D:
Topic: Aptitude Test — Part Il
Item No: 58
Question ID: 101258
Question Type: | MCQ




g99e (X) @ 40K 27 Jgoan @dlagel 999 FI6ald 99 MRIQ QIg |
Question:
hC
X)
.I
®
A: \ _
B: -
e
C: /-/
D: ./




Topic: Aptitude Test — Part Il

Item No: 59

Question ID: 101259

Question Type: | MCQ

60 ARQ 098, 94 999 X - X aleaseq a0 @dd 9o 2ee ?

X

Question:




D:

Topic: Aptitude Test — Part Il

Iltem No: 60

Qlfestion 101260

ID:

Question

Type: MCQ
g90Q Qe 9 69 Q¥ /YR AP YARde (9991) Ie° ARG, IRRIR QdIed | 93 A5Q
QAge 3 Dl 29I, a8 99F QI8 |

Question:

TOP

/

FRONT RIGHT SIDE




Topic: Aptitude Test — Part Il
Item No: 61
Question
D- 101261
Question
Type: MCQ
g9 @‘@ Qg o Y /‘E;u%" QHIR8 | 919 Gol6R 69q, QOG{ ﬂﬁl@@g‘%‘ (@@@I) {-_:]%1@ @YU YR
090 da Q|
Question: D
1—
OoOX




B:

C:

D:

Topic: Aptitude Test — Part Il

Item No: 62

Qgestion 101262

ID:

Question

Type: MCQ
g49Q 99a 99 9 /YR Q668 | 918 Y96a 624, 0K IA6RdR (A99!) Jeds QS AR
G906 da @a |

Question:

<
O

O O




B:

D:

Topic: Aptitude Test — Part Il
Iltem No: 63

Ql.festion 101263

ID:

Question MCQ

Type:




Question:

9gQ 99 QY /QIR Q4IRE | 918 Fe6R 69, 0] IRERAR (A99!) Jads AN RQ
Qe |

9499
g5 @

Topic:

Aptitude Test — Part Il

Item No:

64

Question
ID:

101264




Question

Type: MCQ
g4 08 999 299! (YReeaR) @ @4Ied | 99°9Q A]Q @dge 3 D QN 2%l, eea 9ed da
Q|

Question:

& &K & &)

Topic: Aptitude Test — Part Il

Iltem No: 65




Question

ey 101265

Question

Type: MCQ
g4 996 99 3 D gl @4Ie8 | AeQ 999F@ Aug 3 D 99 99Q QU8 o9 94/JR A 098
QIg |

Question:

A: j —

B: :l —

C: :l —

D: :l —_

Topic: Aptitude Test — Part Il

Item No: 66

Question 101266

ID:




Question

Type: MCQ
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Today one-forth of the mankind resides in inadequate housing characterised by lack of
ventilation, temporary building materials, lack of infrastructure and poor environmental
quality. Numerous authors have defined such housing as slums and have loaded it with evil
cannotations such as ‘Squatter’. illiteracy and higher incidence of crime. A typical response
towards them is to demolish or remove from the urban fabric.

Question: | In India slums are viewed as informal housing transition arising due to inability of formal
channels to provide shelter supply to meet housing demand due to ever increasing migrant
work force. Which is arriving in urban areas in demand of better job opportunities.
Slum redevelopment programs, National Housing and Habitat policy and affordable housing
policy are some of the results of shift in housing paradigm to fulfil demand of shelters.
The nearest meaning of ‘Squatter” in this paragraph would be.

A: Poverty

B: Unlawfully occupied

C: Destitute

D: Delinquency
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Question:

Today one forth of the mankind resides in inadequate housing characterised by lack of
ventilation, temporary building materials, lack of infrastructure and poor environmental
quality. Numerous authors have defined such housing as slums and have loaded it with evil
cannotations such as ‘Squatter’, illiteracy and higher incidence of crime. A typical response
towards them is to demolish or remove from the urban fabric.

In India, slums are viewed as informal housing transition arising due to inability of formal
channels to provide shelter supply to meet housing demand due to ever increasing migrant
workforce which is arriving in urban areas in demand of better job opportunities.
Slum redevelopment programs, National Housing and Habitat policy and affordable housing
policy are some of the results of shift in housing paradigm to fulfil demand of shelters.

What conclusions can be drawn from this paragraph ?

A) The perspective towards slums determine interventions.
B) Incidence of slums is a global phenomena.

Slums are result of formal system failure.

Slums should be removed from the city.

E) Slums are integral part of the city.




